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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Crop Improvement -II (Rabi Crops) [CI-II 532] 

Time: 3:00 Hrs                                                                         Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 
bl oxZ e sa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q1.         Multiple Choice Question / oLrqfu"B iz’u                    [1×10=10] 

(i)  Idotype term is conied by- 
vkn’kZ çk:Ik 'kCn fn;k Fkk& 

(a) Betson / csVlu     (b) Punnet / iqUusV 

(c) Watson / okVlu    (d) Donald/ MksukYM 

 

(ii)  Which is most suitable method for development of disease resistance variety- 
dkSu lh jksx çfrjks/kh fdLe rS;kj djus dh lcls vPNh fof/k gS& 

(a) Back Cross / çfrd ladj.k  (b) Pure line / 'kq/n oa’k Øe 

(c) Test Cross/ ijh{k.k ladj.k (d) Reciprocal Selection / çfrofrZr p;u 
 

(iii)  Pure line theory was proposed by- 
 'kq/n oa’k Øe fl/nkar fn;k Fkk & 

(a) Vavilov / osfoyks 

(b) Vilmorin / foyeksfju 

(c) Johnson / tkWulu 

(d) Margon / ekxZu 
 

(iv)  Origin of Maize- 
eDdk dk mRifRr LFkku gS& 

(a) China / phu 

(b) Maxico / esfDldks 

(c) Uromyses Fabae / vÝhdk   

(d) India/ Hkkjr 
 

(v)  Sum of the total heredity material is called- 
leLr oa’kkoyh inkFkZ dgykrk gS& 

(a) Lace race / çkjafHkd larfr      (b) Breeding line / çtuu drkj 

(c) Variety / çtkfr    (d) Germplasm / tuu nzO; 

 

 (vi)  The process of bringing wild and weedy species under human management - 
 fdlh taxyh çtkfr dks ekuo çca/k esa ykus dh fØ;k dgykrh gS& 
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(a)Introduciton / ifjpk;u    (b) Domestication / xzkE;u 

(c) Apomixis / vlaxtUu    (d) Hybrid / ladj 

 

(vii)  Development of embryo seed without fertilization is called- 
 chuk fu"kspu ds Hkzw.k ,oa cht dk fodkl dgykrk gS& 

(a) Male sterility / uj cU/;rk  (b) Apomixes / vlaxtUu  

(c) Hybridization/ ladj.k   (d) Clistogamy/ DyhLVksxseh 

 

(viii)  Which is the most suitable method to maintain the genetic purity- 
dkSu lh vuqokaf’kd 'kq/nrk çca/ku dh lcls vPNh fof/k gS& 

(a) Pure line / 'kq/n oa’kØe   

(b) Back cross / çrhd ladj.k 

(c) Test cross / ijh{k.k ladj.k 

(d) Mutation/ mRifjorZu 
 

(ix)  Tift 23 are the wild related- 
 fV¶V 23 taxyh çtkfr gS& 

(a) Bajra/ cktjk    (b) Barly/ tkS 

(c) Sorghum/ Tokj    (d) Maize/ eDdk 

  

(x)  NBPGR is located - 

NBPGR fLFkr gS& 

 (a) New Delhi/ ubZ fnYyh  (b) Geneva / ftusok 

(c) Rome / jkse   (d) Colombo / dksyacks 

 

Part-B  (Hkkx c) 

 

Short Answer type question. Each question carries 2 marks. (any five)                   [2×5=10] 
y?kq mRrjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

 

Q.1  Explain the self-pollinated crops with example. 
Loijkfxr Qlyksa kds mnkgj.k lfgr le>kb;saA 

 

Q.2  What is apomixes and its use in crop important. 
valxtuu D;k gSA rFkk Qly lq/kkj esa blds D;k mi;ksx gSA  

 

Q.3  Explain the pure line selection. 
'kq/n oa’kØe p;u dks le>kb;sA 

 

Q.4  What is the Centre of the origin? Explain 
mRifRr dsUnz D;k gSA le>kb, 

 

Q.5  Define the clesitogamy and chasmogamy with example. 
DyhLVªksxseh vkSj dsleksxseh dks mnkgj.k lfgr ifjHkkf"kr dhft,A 
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Q.6  Explain the hybridization and write their type. 
ladj.k dks le>kb, vkSj mlds çdkj fyf[k,A 

 

 

 

Part-C  (Hkkx l) 

 

Long Answer type question. Each question carries 5 marks (any six)        [5×6=30] 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  What is plant introduction and write their types. 
ikni iqjLFkkiu D;k gS\ rFkk blds çdkjksa dks fyf[k,A 

 

Q.2 Describe the difference between plant breeding method of cross pollinated crops. 
ijijkfxr Qlyksa esa fofHkUu ikni çtuu fof/k;ksa dk o.kZu dhft,A 

 

Q.3  Write the detail of mass selection and write their merits. 
lewg p;u dks foLr`r ls fyf[k, vkSj mlds ykHk Hkh fyf[k,A 

  

Q.4  Difference between vertical and horizontal disease resistance. 
m/ok/kZj vkSj {kSfrt jksx çfrjksf/krk ds chp varj crkb,A 

 

Q.5  What is male sterility? Write their types and utilization. 
uj cU/;rk D;k gS\ blds çdkj fyf[k, vkSj mi;ksfxrk crkb,A 
  

Q.6 Explain the difference between qualitative and quantitative characters . 
xq.kkRed vkSj ek=kRed y{k.kksa esa varj crkb,A 

  

Q.7  Write the major breeding objective in detail. 
ikni çtuu ds mn~ns’;ksa dks foLr`r esa fyf[k,A 

 

Q.8  Define the self-incompatibility. Write their type and their Utilization 
Lovfu"ksP;rk dks ifjHkkf"kr dhft, rFkk mlds çdkj vkSj mi;ksfxrk fyf[k,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Diseases of Field and Horticultural Crops and their Management-II 

[DHM532] 

Time: 3:00 Hrs                                                                   Max Marks : 50 

Note : All 3 sections are compulsory. Student should not write anything on question paper. 

 

Part-A  ( ) 

This section contains objective type questions. Each question carry 1 marks.  

 

Q.1 Multiple choice Question / oLrqfu"B iz’u&                  [1×10=10] Marks 

(i)  What is vector of sterility mosaic disease of Arhar- 
vjgj ds LVjyhVh ekstsd jksx dk jksxokgd D;k gS& 

(a) Aphid / Qqndk    (b) Mite /ekbV 

(c) Jassid / tsflM                (d) White fly/ lQsn eD[kh 

 

(ii)  Citrus canker is due to - 
 flVªl dsUdj fdlds dkj.kk gksrk gS& 

(a) Fungus / dod   (b) Virus / fo"kk.kq 

 (C) Bacteria / thok.kq  (d) Spiroplasma /Likbjks IykTek 

 
(iii) Purple blotch is a major disease of- 

ijiy CykWp fdl Qly dk egRoiw.kZ jksx gS& 

(a) Garlic / yglqu   (b) Onion/ I;kt 

(c) Mango / vke   (d) Potato / vkyq 

 

(iv)  Phyllody disease of seasamum is coused by- 
fry dh QkbyksMh chekjh dk dkjd gS& 

 (a) Myeoplasma/ ekbdksIykTek (b) Fungus/ dod 

 (c) Bacteria/ thok.kq  (d) Virus/ fo"kk.kq 

 

(v)  Life cycle of creal rust in India is given by- 
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 Hkkjr esa flfj;y jLV jksx dk thou pØ fdlus fn;k Fkk & 

 (a) E.J. Bulter / bZ-ts- cVyj  (b) K.C Mehta / ds- lh- esgrk 

 (c) R. Prasad/ vkj- çlkn  (d) B.B Mundkar / ch-ch- eqUMdj 

 

 (vi)    Kresek is a major symptoms of which disease- 
 fØLd cuuk fdl fcekjh dk ,d çeq[k y{k.k gS& 

 (a) Blast / CykLV           (b) Bacterial leaf blight/ cSDVhfj;y yhQ CykbV 

 (c) Brown spot / czkmu LiksV            (d) Khaira / [kSjk 

 

(vii) First plant – parasitic nematode was discovered by - 
igyk ikni ijthoh fuesVksM fdlds }kjk [kkstk x;k Fkk & 

(a) Needham / fu/ke      (b) Anton de berry / ,aUVksu Mh cSjh 

(c) Johnson / tksgulu  (d) N.A cobb / ,u-, dksc 

 

(viii) Kernal Bunt of wheat is caused by-  
Xsgwa ds djuky caV jksx dk dkjd gS& 

 (a) Puccinia / iDlhfu;k  (b) Neovossia/ fucksfl;k 

 (c) Botrytis / cksVªkbfVl  (d) Urocystis/ ;qjkslkbV~l 

 

(ix) Khaira is a major disease- 
[kSjk ,d çeq[k jksx gS& 

 (a) Wheat/ xsgwa           (b) Rice / /kku 

(c) Maize / eDdk                (d) Sorghum / Tokj 
 

(x) Citrus cancer is due to  
 fuEcw ds flVªl dsadj dk dkjd gS& 

(a) Collectotrichum spp / dksysVksVªkbZde Lih          

(b) Alternaria / vYVjusfj;k 

 (c) Diploearpon spp / fMIyksiksZu Lih   

 (d) Drechlera Saechari / MªsDysjk lsdkjh 

 

Part-B  (Hkkx&c) 

Short answer type questions. Each question carries 2 marks (any 5)                     [2x5=10] 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½ 

Q.1    What is Bordeux mixture. 
cksMks feJ.k D;k gSA 

 

Q.2    What is incubation period. 
          mnHkou vof/k D;k gSA 

 
Q.3    Write the symptoms of Bacterial leaf blight disease of rice. 
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/kku ds iRrk >qylk jksx ds y{k.k fyf[k,A 

 
Q.4 White bud of maize disease? 

eDdk dk lQsn dyh jksx fyf[k,\ 

 

Q.5   Write the name of causal agent of important three smut of sorghum. 
Tokj ds rhuksa LeV jksxks ds jksxdkjd dk uke fyf[k,A 

 

Q.6 Write about of obligate parasite. 
vfodYih ijthoh ds ckjs esa fyf[k,A 

  

Part-C  (Hkkx&l) 

Long Answer type question. Each question carries 5 marks (any six)      [5×6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Write the detail about ergot disease of bajra. 
cktjk ds vjxV jksx dks foLr`r ls le>krs gq, fyf[k,A 

 

Q.2 Write the detail about late blight and early blight of potato. 
vkyw ds iNsrh vaxekjh ,oa vxsrh vaxekjh jksx dks foLr`r ls le>krs gq, fyf[k,A 

 

Q.3     Write the detail about white rust of mustard. 
ljlks ds lQsn jLV dks foLr`r ls le>kb,A 

aaaa 

Q.4 Explain in detail about Blast disease of rice. 
/kku ds CykLV jksx dks foLr`r esa le>kb,A 

aaaa 

Q.5 Discuss in detail about Tikka disease of groundnut.  
 eqaxQyh ds VhDdk jksx ds ckjs esa foLrkj ls le>kb,A 

  

Q.6 Explain in detail about wilt disease of Cheekpea. 
pus ds foYV jksx ds ckjs esa foLrkj ls le>kb,A 

 

Q.7 Write the detail about loose smut of Wheat. 
xsgawW ds yqt LeV jksx ds ckjs esa foLrkj ls le>kb,A 

 

Q.8 Write the detail about red rot of Sugarcane. 
 xUus ds yky lM+u jksx ds ckjsa esa foLrkj ls fyf[k,A  

 
Enrollment No………………………. 
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Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Farm Management, Production & Resource Economics [FPE-532] 

Time: 3:00 Hrs                                                                         Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q1.         Multiple Choice Question / oLrqfu"B iz’u               [1×10=10] 

(i)  The new farmer should start farming- 
u;s fdlkuksa  dks çkjaHk esa [ksrh viukuh pkfg,& 

(a) Diversified / fofo/k    (b) Specialized / fof’k"V 

(c) State / jktdh;     (d) Collective/ lkewfgd 

 

(ii)  What country in India at present time- 
orZeku esa Hkkjr dSlk ns’k gS& 

(a) Undeveloped / vfodflr    (b) Rudimentary / vYifodflr 

(c) Developed/ fodflr    (d) Developing / fodkl’khy 
 

(iii)  Uncertainty gradually changes - 
 vfuf'prk /khjs /khjs cny tkrh gS& 

(a) Risk / tksf[ke    (b) Prediction / Hkfo";ok.kh 

(c) Both / nksuksa    (d) None of these / mijksDr es ls dksbZ ugh 

 

(iv)  Which of the following factor is necessary of intensive farming- 
l?ku [ksrh ds fy, fuEu esa ls dkSu lk dkjd vko’;d gS& 

(a) Marketing facilities / foi.ku O;oLFkk         

(b) Agriculture equipment / Ñf"k ;a=  

(c) Competent plant protection / l{ke ikS/k laj{k.k     

(d) All of these/ mi;qDr lHkh 

 

(v)  The first attempt of Crop insurance in India is done in 1943- 
Hkkjr esa Qly chek dk çFke o"kZ 1943 esa fd;k x;k Fkk & 

(a) UP / ;w-ih-       (b) HP / ,p-ih 

(c) AP / a,-ih     (d) MP / ,e-ih- 
 

 (vi)  The idea of ratio and scale is respectively related to- 
vuqikr ,oa iSekusa dk fopkj Øe’k% lacaf/kr gS& 

(a) Short term, Short term / vYidkyhu] vYidkyhu    

(b) Short term, Long term / vYidkyhu] nh?kZdkyhu 

(c) Long term, Short term/ nh?kZdkyhu] vYidkyhu    
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(d) Long term, Long term / nh?kZdkyhu] nh?kZdkyhu 

 

 

(vii)  Agriculture production economics is- 
 Ñf"k mRiknu vFkZ’kkL= gS& 

(a) Science / foKku   (b) Art / dyk 

(c) Both/ nksuksa    (d) None of these / mi;qDr esa ls dksbZ ugh 

 

(viii)  How many types of farm budgeting are - 
QeZ ctfVax fdrus çdkj dk gksrk gS& 

(a) One / ,d    (b) Two / nks 

(c) Three / rhu    (d) Four / pkj 
 

(ix)  Farm inventory is Prepared- 
 QkeZ buosaVjh rS;kj dh tkrh gS& 

(a) 1
st
 July / 1 tqykbZ   (b) 1

st
 June/ 1 twu 

(c) 1
st
 April/ 1 vçSy   (d) 1

st
 January / 1 tuojh 

  

(x)  The purpose of each producer is- 
çR;sd mRiknd dk mn~ns’; gS& 

 (a) Receiving total returns maximum/ dqy vkxe vf/kdre çkIr    

(b) Monopoly / ,dkf/kdkj çkIr djuk 

(c) Increase in average returns / vkSlr vkxe esa o`f/n djuk    

(d) None of these / mijksDr esa ls dksbZ ugh 

 

Part-B  (Hkkx c) 

 

Short Answer type question. Each question carries 2 marks. (any five)                   [2×5=10] 
y?kq mRrjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

 

Q.1  Explain meaning of farm planning. 
QkeZ fu;kstu ds vFkZ dks le>k,A 

 

Q.2  Define production efficiency. 
mRiknu n{krk dks ifjHkkf"kr dhft,A 

 

Q.3  Define partial farm budgeting. 
vkaf’kd QkeZ ctfVax dks ifjHkkf"kr dhft,A 

 

Q.4  Define farm management and write its Objective? 
QkeZ çca/ku dks ifjHkkf"kr dhft, rFkk blds mn~ns’; dks fyf[k,A 

 

Q.5  Write the types of farming . 
[ksrh ds çdkjksa dks fyf[k,A 
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Q.6  Define Agriculture insurance and explain crop insurance. 
Ñf"k chek dks ifjHkkf"kr dhft, rFkk Qly chek dks le>kb,A 

 

 

 

Part-C  (Hkkx l) 

 

Long Answer type question. Each question carries 5 marks (any six)        [5×6=30] 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Write the types of farm accounts and farm records with example. 
QkeZ&[kkrs rFkk QkeZ&vfHkys[kksa ds çdkjks dks mnkgj.k lfgr fyf[k,A 

 

Q.2 Describe product-product relationship with example. 
mit & mit laca/k dk mnkgj.k lfgr o.kZu dhft,A 

 

Q.3  Describe selection of factors and yield combinaiton. 
dkjdksa rFkk mit la;ksxks ds pquko dk o.kZu dhft,A 

 

Q.4  Describe crop costs concepts. 
Qly ykxr vo/kkj.kksa dk o.kZu dhft,A 

 

Q.5  Describe principle of opportunity cost with example. 
volj ykxr fl/nkar dk mnkgj.k lfgr o.kZu dhft,A 
  

Q.6 Describe law of Diminishing returns with example. 
áleku çfrQy ds fu;e dk mnkgj.k lfgr o.kZu dhft,A 

  

Q.7  Describe law of increasing returns with example. 
mRifRr o`f/n fu;e dk mnkgj.k lfgr o.kZu dhft,A 

 

Q.8  Describe principle of comparative advantage with example. 
rqyukRed ykHk fl/nkar dk mnkgj.k lfgr o.kZu dhft,A 

 

 

 

 

 

 

 

\ 

Enrollment No………………………. 
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Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Management of Beneficial Insects [MBI532T] 

Time: 3:00 Hrs                                                                   Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carries 1 mark. 

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1  Multiple Choice Question / oLrqfu"B iz’u&                  [1×10=10] 

 
(i)  Which country has the highest production of sealing wax (Lac) - 

fdl ns’k esa yk[k dk mRiknu lcls vf/kd gksrk gS & 

 (A) India / Hkkjr    (B) Japan / tkiku 

 (C) Chine / phu     (D) Phillipines / fQyhfiUl 

 

(ii)  The rearing of silkworms is called- 
 js'ke ds dhM+s dk ikyu dgykrk gS& 

 (A)  Sericulture / lsjhdYpj   (B)  Pisiculture / filhdYpj 

 (C)  Apiculture / ,ihdYpj   (D) Mericulture / esjhdYpj 

 
(iii)    Which is the main silk producing  district of Madhya Pradesh- 

e/;çns’k dk dkSu lk eq[; js’ke mRiknd ftyk gS & 

 (A) Indore / bankSj    (B)  Bhopal / Hkksiky 

 (C)  Ujjain / mTtSu   (D) Gwalior / Xokfy;j 

 

(iv)  In which part of the bee is a pollen basket found- 
e/kqeD[kh ds fdl vax esa ijkx dh Vksdjh ikbZ tkrh gS& 

 (A) Puothoracic / vxzikn   (B) Metathoracic / i'pikn 

 (C) Mesothoracic/ e/;ikn   (D) Abdomen / mnj 
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(v)  How much queen bees found in one hive- 
,d NRrs esa jkuh e/kqeD[kh dh la[;k gksrh gS& 

 (A) 1/ ,d    (B) 15 / ianzg 

 (C) 10/ nl        (D) 20 / chl 

 

(vi)  Which Protein is found in Silk- 
 js'ke esa dkSu lh çksVhu ikbZ tkrh gS& 

 (A) Fibroin / Qkbczksbu    (B) Serisine / lsjhflu 

 (C) Casine / dslhu          (D) Both A & C / nksuksa 

 

 

 

(vii)  What is the commercial product of Bees. 
e/kqefD[k;ksa dk O;olkf;d mRikn D;k gS& 

 (A) Honey / 'kgn    (B) Wax / ekse 

 (C) Propolis/ NRrk    (D) Both a & b/ nksuks , vkSj ch 
 

(viii)  Indian lac research center is Situated at- 
 Hkkjrh; yk[k vuqla/kku dsUnz fLFkr gS& 

 (A) Cuttack / dVd   (B) Patna / iVuk 

 (C) Ranchi / jkaph   (D) New Delhi / ubZ fnYyh 

 

(ix) What is the order of lac insect-? 
   yk[k dhV dk x.k D;k gS& 

(A) Hymenoptera / gkbZesuksIVsjk  (B) Lepidoptera/ ysihMkIVsjk 

 (C) Hemiptera/ gsehIVsjk                         (D) Diptera / MhIVsjk 
 

(x)  Farming of honey bee is called- 
 e/kqeD[kh ikyu dgykrk gS& 

 (A) Mono Culture / eksuks dYpj  (B) Apiculture / ,ihdYpj 

 (C) Sericulture / lsjhdYpj    (D) Mericulture / esjhdYpj 
 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                    [2×5=10] 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 

Q.1 Write the properties of lac. 
 yk[k ds xq.k fyf[k,A 

 

Q.2 Write the systematic position of lac insects. 
 yk[k dhV dk oxhZd`r LFkku fyf[k,A 
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Q.3 Write the composition of honey.  

 'kgn ds laxBu dks fyf[k,A 

 

Q.4 Write the systematic position of honeybee. 
 e/kqeD[kh dk oxhZÑr LFkku fyf[k,A 

 

Q.5 Write the systematic position of Silkworm. 
 js'ke dhV dk oxhZÑr LFkku fyf[k,A 

 

Q.6 Write the composition of lac.  
 yk[k dk laxBu fyf[k,A 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)              [5×6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Write the natural enemies of silkworm with control. 
js'ke dhV ds izkdf̀rd 'k=qvks ds muds fu;a=.k lfgr fyf[k,A 

 
Q.2 Write the economic importance of honey  

 'kgn dk vkfFkZd egRo fyf[k,A 

 

Q.3 Write the detail of lac culture. 
 yk[k ikyu dks foLrkj ls le>kb,A 

 

Q.4 Enlist the honey bee species with write details. 
 e/kqeD[kh;ksa dh tkfr;ksa dks lqphca/k djs o mUgs foLr`r esa fyf[k,A 

 

Q.5 Write the important of beneficial insects. 
 ykHknk;d dhVks dk egRo fyf[k,A 

 

Q.6 Write the modern method of bee keeping. 
 e/kqeD[kh ikyu dh vk/kqfud fof/k dks fyf[k,A 

 

Q.7 Enlist the important equipment’s and material used in apiculture . 
e/kqeD[kh ikyu esa yxus okys eq[; midj.k vkSj lkexzh dks fyf[k,A 

 

Q.8 Write the process rearing of Silkworm.   
 js'ke ikyu dh fof/k dks fyf[k,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Protected Cultivation and Secondary Agriculture [PCA532] 

Time: 3:00 Hrs                                                                       Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1          Multiple choice Question / oLrqfu"B iz’u&     [1x10=10] 

 
(i) Application efficiency of Drip irrigation is- 

fMªi flapkbZ dh vuqç;ksx n{krk gS & 

 (A) 80-90%    (B) 40-50% 

 (C) 60-70%           (D) 90-95% 

 

(ii)  Most abundant green house gas is on earth is- 
      i`Foh ij lokZf/kd çpqj ek=k esa xzhu gkml xSl gS & 

 (A) Methane     (B) SO2 

 (C) CO2    (D) O2 

 
(iii)   Absorption of radiant energy of sun and its transformation into heat energy is know  

  as- 
      lw;Z dh mTtoy mtkZ dk vo’kksa"k.k vkSj ;g m"ek mtkZ esa ifjorZu ds :Ik esa tkuk tkrk gS & 

 (A)  Conduction / çokgdRRo   (B)  Radiation / fofdj.k 

 (C)  Convection / daosD’ku   (D) All of the above / mijksDr lHkh 

 

(iv)  In green house effect temperature increase is due to- 
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xzhu gkml çHkko ds dkj.k rkieku esa o`f/n gksrh gS & 

 (A) Decrease in carbon dioxide lavel / dkcZu MkbZvkWDlkbM ds Lrj esa deh 

(B) Rising carbon dioxide lavel / dkcZu MkbZvkWDlkbM dk Lrj c<+ jgk gS 

 (C) Rise in nitrogen level / ukbVªkstu ds Lrj esa o`f/n 

(D) All of the above / mijksDr lHkh 

 
(v)  Removal of moisture from grain to a pre determined level is know as& 

vukt dks igys ls fu/kkZfjr Lrj rd ueh dks gVkus ds :Ik esa tkuk tkrk gSa & 

 (A) Dehydration / futZyhdj.k   (B) Evaporation / ok"ihdj.k 

 (C) Drying/ lq[kkus    (D) Transpiration / Hkki dk fudkl 

 

 

 

 

(vi)  Percent of carbon-di-oxide in atmosphere is - 
 Okk;qeaMy esa mifLFkr dkcZu MkbZvkWDlkbM dk izfr’kr gS & 

 (A) 21%   (B) 71%  

 (C) 0.03%                      (D) none/ dksbZ ugh 

 
(vii) The problem of cracked or broken grains in thresher can be adjusted by - 

 Fkzs’kj esa QVs ;k VqVs gq, nkus dh leL;k dks bllsa lek;ksftr fd;k tk ldrk gS 

      (A) Reducing cylinder speed / flysaMj dh xfr de djuk    

(B) Increasing fan speed / ia[ks dh xfr c<+kuk  

 (C) Increasing cylinder speed / flysaMj dh xfr esa of̀/n 

(D) None of the above / buesa ls dksbZ ugh 

 

(viii)   Convention tube cooling system is- 
 dUosa’ku V~;wc dwfyax flLVe gS & 

 (A) Active winter cooling system / lfØ; 'khrdkyhu 'khryu ç.kkyh       

 (B) Active summer cooling system / lfØ; xfeZ;ksa esa 'khryu ç.kkyh 

 (C) Both / nksuksa       

 (D) None / dksbZ ugh 

  

(ix)  Principle of winnowing is based on the principle of- 
fofuax dk ç/kkukpk;Z ds fl/nkar ij vk/kkfjr gS & 

(A) Density difference of componets / ?kVdksa dk ?kuRo varj    

(B) Pressure difference of componets  / ?kVdksa dk ncko varj 

 (C) Both / nksuksa     

 (D) None / dksbZ ugh 

 

(x)      Process of separation of grain from chaff is known as- 
  Hkwlk ls vukt dks vyx djus dh çfØ;k ds :Ik esa tkuk tkrk gS & 

  (A) Threshing / Fkzsf’kax       (B) Decortication / MdksjfVds’ku 

  (C) Winnowing / fofuax   (D) None / dksbZ ugh 
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Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5)                    [2×5=10] 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 

Q.1   How computers are usefull to green house and write its advantages? 
gfjrxzg esa dEI;wVj fdl çdkj mi;ksxh gS\ mldh mi;ksfxrk fyf[k;saA 

 

Q.2   What is Fan and Pad cooling system? 
 ia[kk rFkk iSM 'khryu ç.kkyh D;k gSA   

 
Q.3    What are the rule of watering in green house? 

         gfjrxzg esa flapkbZ ds D;k fu;e gS\ 

 

Q.4 What is Green house and write its advantages? 
 gfjrxzg D;k gS\ rFkk blds ykHk fyf[k;saA 

 

Q.5   How CO2 is essential of plant .  
dkcZu MkbZ vkWDlkbM fdl çdkj ikS/kksa ds fy, vko’;d gSA 

 

 

Q.6 What is Green house effect write its advantages? 
 gfjrxzg çHkko D;k gS\ mlds ykHk fyf[k;s 

 

Part-C  (Hkkx&l) 

 

Long Answer type question. Each question carries 5 marks (any six)                    [5×6=30] 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 What are the grain storage? Write the types of storage structure in detail. 
vukt HkaMkjj.k D;k gS\ HkaMkj.k lajpuk ds çdkjksa dks foLrkj ls fyf[k,A 

 
Q.2 What is grain drying? Write the types of grain dryers in detail. 

vukt dks lq[kkuk D;k gS\ Mªk;j ds çdkjksa dks foLrkj ls fyf[k,A 

 

Q.3 Describe in green house ventilation and its various types. 
xzhugkml osafVys’ku vkSj blds fofHkUu çdkjksa dk o.kZu dhft,A 
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Q.4 Which equipment's are required for controlling green house environment? Describe 

 each equipment in brief. 
xzhugkml okrkoj.k esa fu;a=.k ds fy, dkSu ls midj.k vko';d gS\ izR;sd midj.k dks laf{kIr esa 

 le>kb,A 

 

Q.5 Give detail of planning and design of green house. 
 gfjrxzg ds ;kstuk o izk:Ik dk foLr`r o.kZu dhft,A 

 

Q.6 Explain the working of Baffle dryer with diagram. 
 csQy 'kq"dd dh dk;Z fof/k dks fp= dh lgk;rk ls foLrkj ls fyf[k;sA 

 

Q.7 Describe in detail different types of threshing cylinder with their diagram. 
 fofHkUu çdkj ds Fkzsf’kax Mªe dks muds fp= dh lgk;rk ls foospuk dhft,A 

 

Q.8 Describe the working of fruit rader with diagram. 
 Qy xzsMj dh dk;Z ç.kkyh dks fp= dh lgk;rk ls O;k[;k djsaA 
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   Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Main Examination, June-2021 

Principles of Food Science and Nutrition [PFN532] 

Time: 3:00 Hrs                                                                          Max Marks 50 

Note :  All three sections are compulsory.  

 Student should not write anything on question paper 

 

Part-A  ( ) 

This section contains objective type questions. Each question carry 1 marks. 

Q1.  Multiple Choice Question / oLrqfu"B iz’u               [1×10=10] Marks  

(i)  Which are the simple protein from the following - 
fuEu esa ls ljy izksVhu gS & 

(a) Albumin / ,YC;qfeu   (b) Globulin  /XyksC;qfyu 

(c) Histone / fgLVksu    (d) All / lHkh 

 

(ii)  In carbohydrate the ratio of carbon hydrogen and oxygen is - 
dkcksZgkbZMªsV esa dkcZu gkbMªkstu rFkk vkWDlhtu dk vuqikr gksrk gS & 

(a) 2:1:1     (b) 1:2:1 

(c) 1:2:2     (d) None of these /  bueas ls dksbZ ugha 
 

(iii)  What is the pH of milk - 
 nw/k dk ih&,p fdruk gksrk gS & 

(a)  2.2     (b) 2.8 

(c) 6.4     (d) 7.4 
 

(iv)  Which one of the flowing is the example of monosaccharide - 
fuEu esa ls eksukslSdsjkbM dk mnkgj.k gS & 

(a) Glucose / Xywdkst                  (b) Sucrose / lwØkst 

(c) Cellulose /lsY;qykst   (d) Maltose / ekYVkst 

 

(v)  The tern protein was first used by - 
izksVhu 'kCn dk loZizFke iz;ksx fdlus fd;k & 

(a) Mullder / eqYMj     (b) Fisher / fQ'kj 

(c) Berzelius/ ctsZfy;l   (d) None of these /  buesa ls dksbZ ugha 
 

(vi)   The formulation process is done by - 
 fd.ou izfØ;k fdlds }kjk dh tkrh gS & 

(a) Bactria / thok.kq    (b) Fungal / QQwqan  
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(c) Micro- organism / lw{etho  (d) All / lHkh 

 

 

 

Part [1] 

(vii)  The yellow of carrot is caused by - 
 xktj dk ihyk jax fdlds dkj.k gksrk gS & 

(a) Anthocynin / ,UFkkslkbfue   (b) Quercetin / D;qjflfVu 

(c) Carotene/ dsjksfVu   (d) None of these /  buesa ls dksbZ ugha 
 

(viii)  Coconut fat is a rich sources of - 
 ukfj;y olk dk le)̀ L=ksr gS & 

(a) Louric acid / ykSfjd ,flM  (b) Ascorbic acid/ ,LdkfcZd ,fLkM 

(c) Both / nksukas    (d) None of these / buesa ls dksbZ ugha 

 

 (ix)  The repeating units of proteins are – 
 izksVhu dh iqujkof̀Rr bdkbZ gS & 

 (a) Carbohydrate / dkcksZgkbZMªsV  (b) Vitamin / foVkfeu 

(c) Mineral / [kfut   (d) Amino acid / ,feuks ,flM 

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (Any five)              [2x5=10] 

Marks 
y?kq mRrjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ ikap½ 

  

Q.1  Write the definition of food microbiology. 
[kk| lw{e tho foKku dh ifjHkk"kk fyf[k,A 

 

Q.2  What is the processed food? 
 izlaLdr̀ [kk| D;k gS\ 

 

Q.3  What is food related hazards? 
Hkkstu ls lECf/kr [krjs D;k gSa\ 

 

Q.4  What is modified diet? 
la'kksf/kr vkgkj D;k gS\ 

 

Q.5  Write the definition of pH. 
ih&,p dh ifjHkk"kk fyf[k,A 

 

Q.6  Write the definition of water. 
ty dh ifjHkk"kk fyf[k, A 

 

Part-C  (Hkkx l) 
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Long Answer type question. Each question carries 5 marks (Any six)                      

[5×6=30] 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Describe the principle of food preservation and processing.  
[kk| laj{k.k vkSj izlaLdj.k ds fl)kar crkb,A 

 

Q.2 What is nutritious content and classify on the basis of ability. 
iks"kd iznkFkZ D;k gS rFkk mi;ksfxrk ds vk/kkj ij oxhZd`r dhft,A 

 

 

Page [2] 

Q.3  Explain the amino acid and its biological significance. 
,feuks ,flM D;k gS\ mlds tSfod egRo dks le>kb,A 

 

Q.4  Describe the main functions of carbohydrates and write their types. 
dkcksZgkbZMªsV ds eq[; dk;Z crkb, rFkk mlds izzdkjksa dks fyf[k,A 

 

Q.5  Write about food preservation at low temperature. 
de rkieku ij [kk| laj{k.k ds ckjs esa fyf[k,A 
  

Q.6 Write about the stability of nutrients in detail. 
iks"kd rRoksa dh fLFkjrk ds ckjs esa foLrkj ls fyf[k,A 

  

Q.7  What is the modified diet? Explain in detail. 
la'kksf/kr vkgkj D;k gS\ foLrkj ls le>kb,A 

 

Q.8  Write about new trends related to food science and nutrition.  
[kk| foKku vkSj iks"kd ls lEcaf/kr u, #>kuksa ds ckjs esa fyf[k,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Post-harvest Management and Value Addition of Fruits and Vegetables 

[PHM532] 

Time: 3:00 Hrs                                                                   Max Marks : 50 

Note : All 3 sections are compulsory.  

Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1        Multiple Choice Question / oLrqfu"B iz’u&               [1×10=10] 

(i)  How much produced is wasted due to improper post harvest handling- 
Qly dh dVkbZ vuqfpr rjhds ls djus ds dkj.k fdruk mRiknu cckZn gksrk gS& 

 (a) Above 40% / 40 çfr’kr ls vf/kd            (c) 10% / 10 çfr’kr 

 (b) 5% / 5 çfr’kr                            (d) 2%/ 2 çfr’kr 

 

(ii)  Best time of harvesting of fruit during the day- 
 fnu ds nkSjku Qyksa dh dVkbZ dk lcls vPNk le; gS& 

      (a) Evening / la/;k                      (c) Early Morning / tYnh lqcg 

 (b) Morning / lqcg                             (d) Afternoon / nksigj 

 
(iii)    Criteria for harvesting of tomatoes are- 

VekVj dh dVkbZ ds fy, ekunaM gS& 

 (a) Colour / jax   (c) % suger& % acid /  % 'kDdj vkSj %vEy 

 (b) Oil/ rsy   (d) A and B / , vkSj ch 

 

(iv)  Lycopene present in- 
         ykbdksihu ik;k tkrk gS& 

 (a) Citrus / flVªl    (b) Tomato/ VekVj 
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 (c) Mango/ vke    (d) All/ lHkh 

 
(v) The post harvest losses are- 

      Qly dVkbZ ds ckn ds uqdlku gS& 

 (a) Qualitative / xq.kkRed   (b) Quantitative / ek=kRed 

 (c) Physiological / 'kkjhfjd   (d) All / lHkh  

 

 

 (vi)    Syneresis is a term which is used with -  
 flusjsfll 'kCn dk ç;ksx fuEu esa ls fdlds lkFk gksrh gS& 

      (a) Jam / tse    (b) Jelly / tSyh 

 (c) Marmalade / ekeZysM   (d) Pickle / vpkj  

 
 (vii) Fruit rich in Vitamin ‘c’ is ______- 

      Qy ftlesa foVkfeu lh Hkjiwj ek=k esa ik;k tkrk gS& 

 (a) Papaya / iihrk    (b) Almond / cknke 

 (c) Amala / vkaoyk    (d) Cheshewnut / dktw  

 
(viii) TSS of Jam is________- 

tse dk Vh- ,l- ,l- gS& 

 (a) 50-60%    (b) 70-72% 

 (c) 80-82%                                    (d) 68-70% 

  

(ix)  Percentage of Acid in Jam is _________- 
         tse esa ,flM dk çfr’kr gS& 

 (a) 0.2-0.3    (b) 0.3-0.4 

 (c) 0.1-0.2    (d) 0.5-0.6 
 

(x) Papain is prepared from_________- 
iisu rS;kj fd;k tkrk----------------------- gS& 

 (a) Papaya / iihrk    (b) Coconut/ ukfj;y 

 (c) Pear/ uk’kikrh    (d) Gum of French bean/ jktek ds xksan 

 
 

Part-B  (Hkkx&c)                                         [2×5=10] 

Short Answer type questions. Each question carries 2 marks (any 5)  

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 

Q.1 Write down scope of fruit and vegetables. 
Qyksa vkSj lfCt;ksa dks ifjHkkf"kr djus dh laHkkouk fyf[k,A 

 

Q.2 Explain the “ Blanching” 
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 Cykafpax dks le>kb,A 

  

Q.3    Preservation of lime squash. 
 uhacw ds 'kjcr cukus dh fof/k fyf[k,A 

 

Q.4 Write down the difference between climacteric & Non- climacteric fruits. 
DykbeSfVªd o ukWu DykbeSfVªd Qyksa esa varj fyf[k,A 

 

Q.5 Write the importance of post harvest technology. 
mRiknuksyj çks?kksfxdh dk egRo fyf[k,A 

 

Q.6 Write the difference between ketchup and souce. 
dspi vkSj lkWl esa varj fyf[k,A 

  
                             

 Part-C  (Hkkx&l)    [5×6=30] 

Long Answer type question. Each question carries 5 marks (any six)          

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1  Give flow chart along with the recipe for the preparation of the Apple jam from 5 kg 

of fruit. 
ikap fdyks lsc ls tSe cukus dh fof/k dk izokg fp= vko’;d lkexzh lfgr o.kZu nhft,A 

 

Q.2 Explain important principles of fruit and vegetable preservation. 
Qy ,oa lfCt;ksa ds ifj{k.k ds çeq[k fl/nkarks dk o.kZu dhft,A 

 

Q.3     Write the method to test the pectin during jelly preparation.   
tSyh cukus gsrq isfDVu dh tkap djus dh fof/k;ka fyf[k,A 

 

Q.4 Write the difference between_________. 
buds chp varj fyf[k,A 

(a) Canning & Battling / dSfuax o ckWVfyax 

(b) RTS & Nactor / vkj Vh ,l o usDVj 

 

Q.5 What is maturity & maturity index? WRite down the important maturity indexes of 

 fruit and vegetables. 
ifjiDrrk rFkk ifjiDrrk lwpdkad D;k gS\ Qyks o lCth;ksa ds izeq[k ifjiDrrk lqpdkadks dk foLrkj ls 

o.kZu dhft,A 

 

Q.6 Describe the method of canning of peas along with flow chart 
 eVj dh fMCckcanh dh fof/k dk o.kZu izokg fp= lfgr dhft,A 

 

Q.7  Write the method of preparation of tomato ketchup from 5 kg of tomato. 
 Ikakp fdyks VekVj ds Qyksa ls dspvi cukus dh fof/k dks le>kb,A 
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Q.8 What is the important of PHM and Value addition of fruit and in national economy 

of India 
 [kkn; ifj{k.k rFkk ewY; lao/kZu dk Hkkjrh; jk"Vªh; vFkZO;oLFkk esa egRo dks le>kb,A 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Principles of Organic Farming [POF532] 

Time: 3:00 Hrs                                                                         Max Marks 50 

Note:  All three sections are compulsory.  

 Student should not write anything on question paper 

 

Part-A  (Hkkx v) 

This section contains objective type questions. Each question carry 1 marks. 
bl oxZ esa oLrqfu"B iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

Q1.  Multiple Choice Question / oLrqfu"B iz’u                                     [1×10=10] Marks  

 

(i)  Best crop for green mannure is - 
gjh [kkn ds fy, lcls vPNh Qly gS& 

(a) Sunhemp/ lubZ    (b) Daincha / <Sapk 

(c) Cowpea/ yksfc;k    (d) Soyabean / lks;kchu 

 

(ii)  ______is proper moisture condition for composting- 

 dEiksLVhax esa mi;qDr ueh dh ek=k_____ gS& 

(a) 80-100%    (b) 10-20% 

(c) 20-40%    (d) 60-80% 

 

(iii) Indore method related  to____ 

 bUnkSj fof/k ls lacaf/kr gS_____ 

 (a) Manure/ [kkn    (b) Pesticide/ dhVuk’kd 

(c) Herbicide/ 'kkduk’kh   (d)All/ lHkh 

 

(iv)  Nitrogen Content in FYM is about 

 FYM ukbVªkstu dh ek=k gS 

(a) 0.5%     (b) 2.5% 

(c) 3.5%     (d) 4.5% 

 

(v)  The quantity of Nitrogen fixed by blue green algae (BGA). 
uhyh gjh 'kSoky n~okjk ukbVªkstu fLFkjhdj.k dh ek=k gS& 

(a) 15-45 kg/ha    (b) 150-175 kg/ha 

(c) 225-250 kg/ha    (d) 5 kg/ha 
 

 (vi)  Which among the following is a green manure crop 
 fuEufyf[kr esa ls dkSu lh gjh[kkn dh Qly gS 

(a) Daincha / <Sapk    (b) Wheat / xsgaw 
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(c) Mustrd / ljlksa    (d) Maize/ eDdk 

 
 

 

(vii)  Which among the following is not allowed in Organic production 
 tSfod mRiknd esa fuEufyf[kr essa ls fdldh vuqefr ugh gSA  

(a) Basic slag / csfld Lysx   (b) Rock phosphate / jkWd QkWLQsV 

(c) Night soil / ukbZV lkby   (d) All / lHkh 

 

(viii)  Which is the good in situ source of nutrients in waters logged soil? 
ty Hkjko okyh eǹk esa iks"kd rRoksa dk vPNk bu lhVw L=ksr dkSu lk gS& 

(a) Sunhemp/ lubZ   (b) Daincha / <Sapk 

(c) Azolla / ,tksyk    (d) All/ lHkh 

 

(ix)  Nitrogen present inVermicompost- 
 oehZdEiksLV esa ukbVªkstu dk çfr’kr gS& 

(a) 1.5-2.10%    (b) 4.5-6.5% 

(c) 10%     (d) 15% 

  

(x)  Devine is a____ 

 fMokbu gS ,d _____ 

 (a) Chemical Fertilizer/jklk;fud moZjd (b) Bio Herbicide/ tSo 'kkduk’kh 

(c) Bio Fertilizer/ tSo moZjd  (d) Pesticide / dhVuk’kh 

 

Part-B  (Hkkx c) 

Short Answer type question. Each question carries 2 marks. (Any five)                      [2×5=10] 
y?kq mRrjh; iz’uA izR;sd iz’u ds 2 v ad fu/kkZfjr gSaA ¼dksbZ ikap½ 

 

Q.1  Bio fertilizer 
 tSfod moZjdA 

 

Q.2  Green manure. 
gjh [kknA 

 

Q.3 Sustainable Agriculture. 
fVdkm [ksrhA 

 

Q.4  Concept of Organic farming. 
tSfod [ksrh dh vko’;drk,WA 

 

Q.5  Crop residues management. 
Qly vo’ks"k çca/kuA 

 

Q.6  Advantage of Vermicompost. 
oehZdEiksLV ds ykHkA 
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Part-C  (Hkkx l) 

Long Answer type question. Each question carries 5 marks (any six)                     [5×6=30] 
nh?kZ mRrjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½

 

Q.1  Principles of organic farming . 
tSfod [ksrh ds fl/nkar fyf[k,A 

 

Q.2  Define the Biofertilizer and its advantage. 
tSfod moZjd dks ifjHkkf"kr dhft, ,oa mlds ykHk fyf[k,A 

 

Q.3 Define the Sustainable agriculture and its advantage. 
fVdkm [ksrh dks ifjHkkf"kr dhft, ,oa mlds ykHk crk;saA 

 

Q.4  Describe the method  of NADEP. 
ukMsi cukus dh fof/k dk o.kZu dhft,A 

 

Q.5  Problems of organic farming in India. 
Hkkjr esa tSfod [ksrh dh leL;k;sa crk;sA 

  

Q.6 Describe the methods of Green manure. 
gjh [kkn cukus dh fof/k dk o.kZu dhft,A 

  

Q.7  Methods of Vermicompost its advantage. 
oehZdEiksLV fd fof/k ,oa mlds ykHk crk;sA 

 

Q.8  Explain the different component of Vermicompost 
 tSfod [ksrh ds fofHkUu dkjdksa dk foLrkj ls o.kZu dhft, 
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Enrollment No………………………. 

Bachelor of Science (Agriculture) 

Sixth Semester Examination, June-2021 

Rainfed Agriculture & Watershed Management [RWM532] 

Time: 3:00 Hrs                                                                   Max Marks : 50 

Note: All 3 sections are compulsory.  

          Student should not write anything on question paper. 

 

Part-A  (Hkkx&v) 

 

This section contains objective type questions. Each question carry 1 marks.  

bl oxZ esa oLrqfu"B izdkj ds iz’u gSaA izR;sd iz’u dk ,d vad fu/kkZfjr gSA 

 

Q.1  Multiple choice Question / oLrqfu"B iz’u&      [1×10=10] Marks 

(i)  Vertical Mulching has been adopted in Which soil– 
 fdl feV~Vh esa ofVZdy efYpax dks viuk;k x;k gSa & 

 (A) Heavy soil/ Hkkjh eǹk   (B) Light soil / gYdh eǹk 

 (C) Loamy soil / fpduh cyqbZ feV~Vh  (D) All/ lHkh 

 

(ii)  The Concept Aridity index was proposed by- 
,fjMhVh bUMsDl dh vo/kkj.kk fdlus çLrkfor dh & 

 (A) Panman/ isuesu (B) Thornth waite/ FkksuZosV 

 (C) Kanitkar/ dsuhVdj (D) Tamhan/ rEgku 

 
(iii) Which type of plant is more drought tolerant-  

fdl çdkj ds ikS/ks vf/kd lw[kk lfg".kq gS& 

(A) C3 plant     (B) C4 plant 

 (C) CAM                  (D) Both a and b 
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(iv)  Rainy day is one the which receives >--------- mm of rainfall- 

cjlkr dk og fnu] ftl fnu ---------------- vf/kd mm o"kkZ gksrh gS mls jSuh fnu dgrs gSA 

 (A) 2.5mm   (B) 25 mm 

 (C) 250mm (D) 5mm 

 
(v)  What is the main object of Watershed management- 

okVj’ksM çca/ku dk eq[; mn~ns’; D;k gS& 

 (A) Proteet and conserve the land Resoursces / Hkwfe lalk/kuks dh j{kk vkSj laj{k.k 

 (B) Utilire the local resources effectively / LFkkuh; lalk/kuks dk çHkkoh <ax ls  

 mi;ksx djs 

 (C) Improve the soil economic statas and local residents / feV~Vh dh vkfFkZd  

 fLFkfr vkSj LFkkuh; fuokfl;ksa esa lq/kkj 

 (D) All of these / mijksDr lHkh 

 

(vi)  What is the major storage loss of Farm pond- 
[ksr rkykc dk çeq[k Hk.Mkj.k uqdlku D;k gS& 

(A) Seepage/ fjlko 

(B) Percolation/Vidu 

 (C) Evaporation / ok"iksRltZu 

 (D) All / lHkh 

 
(vii) Watershed is also called as- 
   okVj'ksM dks vkSj D;k dgrs gSa& 

 (A) Catchment area / tyx̀g.k 'ksM  (B) Drainage basin/ tyfudkl ?kkVh 

 (C) Both a & b / nksuksa , o ch  (D) None of these / buesa ls dksbZ ugh  

 

(viii) Area under dryland agriculture in India– 
 Hkkjr esa 'kq"d Ñf"k dk {kS=Qy fdruk gS& 

 (A) 70%   (B) 60% 

 (C) 40%   (D) 50% 
  

(ix)  Which is the Stomatal closing type of anti-transparent- 
   dkSulk ,UVhVªkalikbZjsUV gS tks LVksesVk can çdkj dk gSA 

 (A) Atrazin / ,Vªkthu   (B) Mobileaf/ ekschyhQ 

 (C) Silicon/ flyhdkWu   (D) All of these/ mijksDr lHkh 
  

(x)  What is the Main Character of Rainfed agriculture 
 o"kkZ vk/kkfjr Ñf"k dk eq[; y{k.k D;k gSA 

 (A) Annul rainfall is 750-1100 mm / okLrfod o"kkZ 750&1100mm   

(B) Crop failure is less Frequent / Qly dh foQyrk de gksrh gS 
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 (C) Crop growing period is >120 days / Qly yxkus dh vof/k 120 fnuksa ls vf/kd 

(D) All of these / lHkh 

 

Part-B  (Hkkx&c) 

Short Answer type questions. Each question carries 2 marks (any 5) 

  [2×5=10] Marks 

y?kq mÙkjh; iz’uA izR;sd iz’u ds 2 vad fu/kkZfjr gSaA ¼dksbZ 5½  
 
Q.1 Water shed. 
 ty laxzg.kA 

 

Q.2 Dry land Farming. 
 'kq"d [ksrhA 

 

Q.3 Evapo transpiration. 
 ok"iu ok"iksRltZuA 

 

Q.4 Rainfed farming. 
 o"kkZ vk/kkfjr [ksrhA 

 

Q.5 Mulching. 
 efYpax 

 

Q.6 Drought. 
 lq[kkA 

 

Part-C  (Hkkx&l) 

Long Answer type question. Each question carries 5 marks (any six)       

[5×6=30] Marks 

nh?kZ mÙkjh; iz’uA lHkh iz’uksa ds 5 vad fu/kkZfjr gSaA ¼dksbZ N%½ 

 

Q.1 Discuss in brief about Characteristics of rainfed farming. 
o"kkZ vk/kkfjr [ksrh dh fo’ks"krkvksa ds ckjsa esa la{ksi esa ppkZ djsaA 
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Q.2 Explain the principles of watershed management. 
 ty laxzg.k izca/ku ds fl)karks dh O;k[;k djsaA 

 

Q.3 Discuss in brief about the types of Drought. 
 lw[ks ds çdkjksa ds ckjs esa la{ksi esa ppkZ djsaA 

 

Q.4 What do you mean by Water harvesting and its importance. 
ty lap;u vkSj blds egRo ls D;k vfHkçk; gSA 

 
Q.5 What is Anti transpiration and explain the types? 
 fojks/kh&ok"iksRltZu D;k gSA vkSj blesa çdkjksa dh O;k[;k djsaA 

 

Q.6 Discuss in brief about the types of Mulching? 
 efYpax ds çdkjksa ds ckjs esa ppkZ djsaA 

 

Q.7 Discuss in brief about the concept and benefits of watershed management. 
 ty laxzg.k izca/ku dh vo/kkj.kk vkSj ykHkksa ds ckjs esa la{ksi esa ppkZ djsaA 

 

Q.8 Importance of Dry forming in Indian agriculture. 
 Hkkjrh; Ñf"k eas 'kq"d [ksrh dk egRo gSA 

 

 

 


